MAC 2313 - Period: Name: k EY
Quiz 2
January 24, 2019 Show your work to earn full credit.

1. Find parametric equations for the line of intersection of the planes z+y+2 = 3 and Tr+y+7z =3.
(2 points)
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2. Find the equation of the plane that passes through the point (1,-1,1) and contains the line o
r(t) = (1,0,-1) + ¢(1,2,1). ({ points) A
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3. Consider the equation 22 — y2 + 22 = 4z — 2y — 42 + 6 = 0.
(i} Reduce the given equation to one of the standard forms. (1.5 points)
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(1) Classify the surface (i.e., give the name describing the surlace). (0.5 points)
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Problem References:

1. MAC2313 L5 HW Assignment Problem #11. Answer: z =6t,y = 3,z = —6t.

2. MAC2313 L5 HW Assignment Problem #15. Answer: 5z — 2y — z = 6.

3. MAC2313 L6 HW Assignment Problem #16 and L6 NYTI #2. Answet: (i) (x — 2)° = (y+ 1)* + (z — 2)? = L. (ii)
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